CALCULUS: 6Graphical, Numerical, Algebraic by Einney, . Wa
Chapter 6: Differential Equations 6.5: Logistic Growth Fractions

What you'll Learn Abourt
» How to recognize alogistical growth differential equation

I am sick (Initial Value). Eventually everyone gets sick(Max). So what happens to
the rate of people getting sick. People will get sick quickly, then it will be harder to
find people that aren't sick yet (rate slows down-point of inflection) and eventually

everyone gets sick.

This is similar to a rumor spreading or facebook/twitter accounts.
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% rate of growth of peoplegetting sick

kp: directly proportioml to the sick people
M-P: healthy people(Notsick yet)
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Remember directly proportional is just like P = 8.50h (Your pay is
directly proportional to the amount of money you make which can

change) That 8.50 is your k.
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In 1985 and 1987, the Michigan Department of Natural Resources
airliﬂeorm Algonquin Park, Ontario to Marquette County in
the Upper Peninsula. It was originally hoped that the population P would
reach carrying capacity in about 25 years with a growth rate of
P _ 0003P(1000— P)
dt
Solve the differential equation with the initial condition P(0) =
4P _ A B sd.
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